
ECONOMICS

AW©emÒÃ

(318)

Time : 3 Hours ] [ Maximum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to

attempt questions from one option only.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| EH$ go A{YH$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

SEC TION–A

I S>–A

1. What is meant by market demand? 2

~mOma _m±J go ä`m A{^‡m` h°?

2. If total revenue at 2 units of output is Rs 200, what is average revenue? 2

`{X CÀnmXZ H$s 2 BH$mB`m| go Hw$b AmJ_ 200 È0 h°, Vmo Am°gV AmJ_ ä`m hmoJm?

3. How is net domestic product at factor cost obtained from gross domestic

product at market price? 2

~mOma H$s_V na gH$b Kaoby CÀnmX go gmYZ bmJV na {Zdb Kaoby CÀnmX H°$go ‡m· {H$`m OmVm h°?
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4. Calculate gross value added at market price from the following : 2

(a) Value of output = Rs 1,500

(b) Intermediate consumption = Rs 700

{ZÂZ{b{IV go ~mOma H$s_V na gH$b _yÎ` d•{’ H$s JUZm H$s{O ò Ö

(H$) CÀnmXZ H$m _yÎ` = 1,500 È0

(I) _‹`dVu Cn^moJ = 700 È0

5. What does ‘excess supply’ of a commodity mean? 2

{H$gr dÒVw H$s "A{V[a∫$ Amny{V©' go ä`m A{^‡m` h°?

6. How is the midpoint of a class interval obtained? 2

{H$gr dJ© A›Vamb H$m _‹`{~›Xw H°$go ‡m· {H$`m OmVm h°?

7. What are intermediate goods? 2

_‹`dVu dÒVwE± ä`m hmoVr h¢?

8. If total variable cost for one unit is Rs 60, what is average variable cost? 2

`{X EH$ BH$mB© H$s Hw$b n[adVu bmJV 60 È0 h°, Vmo Am°gV n[adVu bmJV ä`m h°?

9. State the law of demand. 2

_m±J Ho$ {Z`_ H$m CÑoI H$s{O`oü&

10. Distinguish between consumer goods and producer goods. Give examples. 5

Cn^mo∫$m dÒVwAm| VWm CÀnmXH$ dÒVwAm| _| ^oX H$s{O`oü& CXmhaU Xr{O`oü&
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11. What is government budget? State three features of a government budget. 5

gaH$ma H$m ~OQ ä`m hmoVm h°? gaH$ma Ho$ ~OQ> H$s VrZ {deofVmAm| H$m CÑoI H$s{O`oü&

12. Explain the term ‘factor income’. Give two examples. 5

"gmYZ Am`' nX H$s Ï`mª`m H$s{O òü& Xmo CXmhaU Xr{O`oü&

13. Distinguish between substitute goods and complementary goods. Give

examples. 5

ÒWmZmnfi dÒVwAm| VWm nyaH$ dÒVwAm| _| ^oX H$s{O`oü& CXmhaU Xr{O`oü&

14. Explain the concept of domestic territory of a country. 5

{H$gr Xoe Ho$ Kaoby joÃ H$s AdYmaUm H$s Ï`mª`m H$s{O òü&

15. What is meant by economic planning? State any four objectives of economic

planning in India. 5

Am{W©H$ {Z`moOZ go ä`m A{^‡m` h°? ^maV _| Am{W©H$ {Z`moOZ Ho$ {H$›ht Mma C‘oÌ`m| H$m CÑoI
H$s{O`oü&

16. Following are marks obtained by 20 students of a class. Calculate the

arithmetic mean by direct method : 5

Marks (out of 100) : 40 50 60 70

No. of students : 5 5 6 4

EH$ H$jm _| 20 {d⁄m{W©`m| Ho$ ¤mam ‡m· AßH$ ZrMo {X ò J ò h¢ü& ‡À`j {d{Y ¤mam AßH$J{UVr` _m‹`
H$m AmH$bZ H$s{O ò Ö

‡m·mßH$ (100 _|) : 40 50 60 70

{d⁄m{W©̀ m| H$s gßª`m : 5 5 6 4
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17. Give three reasons why economic problems arise and explain them. 8

Am{W©H$ g_Ò`mE± ä`m| CÀnfi hmoVr h¢, BgHo$ VrZ H$maU Xr{O ò VWm CZH$s Ï`mª`m H$s{O òü&

18. What was the main objective of New Economic Policy of 1991? Explain the

terms ‘liberalization’, ‘privatization’ and ‘globalization’. 8

1991 H$s ZB© Am{W©H$ Zr{V H$m _wª` C‘oÌ` ä`m Wm? "CXmarH$aU', "{ZOrH$aU' VWm "^y_ S>brH$aU'
nXm| H$s Ï`mª`m H$s{O òü&

19. Explain any two measures that Reserve Bank of India can adopt to decrease

money supply. 8

Eoogo {H$›ht Xmo Cnm`m| H$s Ï`mª`m H$s{O ò Omo ^maVr` [aOd© ~¢H$ _w–m H$s ny{V© _| H$_r H$aZo Ho$ {bE
AnZm gH$Vm h°ü&

20. Distinguish between primary and secondary data. List two methods of

collecting primary data and give two sources of secondary data. 8

‡mW{_H$ VWm {¤Vr`H$ Am±H$ãS>m| _| ^oX H$s{O`oü& ‡mW{_H$ Am±H$ãS>o EH${ÃV H$aZo H$s Xmo {d{Y`m| H$s gyMr
~ZmB ò VWm {¤Vr`H$ Am±H$ãS>m| Ho$ Xmo ÚmoV {b{I`oü&
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SECTION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Role of Agriculture and Industry in India’s Economic Development )

( ^maV Ho$ Am{W©H$ {dH$mg _| H•${f Am°a C⁄moJ H$s ŷ{_H$m )

21. Given that 50 quintals of wheat are produced on 2 hectares of land. What is

the productivity of land? 2

`{X ŷ{_ Ho$ {H$gr 2 h°äQ>ò a Qw>H$ãS>o na 50 qπ$Q>b Johˇ± H$m CÀnmXZ hmoVm h°, Vmo ^y{_ H$s CÀnmXH$Vm
ä`m h°?

22. State and explain briefly any two factors affecting industrial growth. 5

Am°⁄mo{JH$ {dH$mg H$mo ‡^m{dV H$aZo dmbo H$moB© Xmo H$maH$ {b{I ò VWm gßjon _| BZH$s Ï`mª`m H$s{O òü&

23. Explain any four ways how the industrial sector is dependent on the

agricultural sector. 8

{H$›ht Mma VarH$m| ¤mam Ï`mª`m H$s{O ò {H$ Am°⁄mo{JH$ joÃ H•${f joÃ na {H$g ‡H$ma {Z ©̂a h°ü&

OPTION–II

{dH$ÎnçII

( Population and Economic Development )

( OZgßª`m Am°a Am{W©H$ {dH$mg )

21. What is meant by dependency ratio? 2

{Z ©̂aVm AZwnmV go ä`m A{^‡m` h°?

318/OSS/210A 6



22. Why has the density of population in India been increasing? Explain. 5

^maV _| OZgßª`m Ho$ KZÀd _| d•{’ ä`m| hmo ahr h°? g_PmB òü&

23. Describe the effects of population growth on natural resources of a country. 8

{H$gr Xoe Ho$ ‡mH•${VH$ gßgmYZm| na OZgßª`m-d•{’ Ho$ ‡^mdm| H$m dU©Z H$s{O`oü&

H H H
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